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Electrochemistry #4

Use the following unbalanced equation to answer questions 1 - 9.
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CrO;” + ClO" > CI' + CrO,% (acid solution)

What is the highest oxidation number of chromium in the equation?
+b
What is the highest oxidation number of chlorine in the equation?
+
Write the balanced reduction half reaction in an acid solution.
e+ 2H s clo” — €t + 4,0
Write the balanced oxidation half reaction in an acid solution.
AZH20 + C-03" — CO" 7 4 YUty Be~
Write the balanced full reaction in an acid solution.
HiO + 2C.0,” + 3CI0™ —> 3ci™+ 2C.0% " + 26t
Write the formula for the oxidizing agent.
C -
Write the formula of the species that is getting reduced.
cio”
What effect would the addition of NaOH o 1p) have on the equilibrium?
shift recction fo products AR Lo SRR
What effect would the addition of NaOHsqy 1p) have on the cell potential?
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